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SECTION A: STATISTICS

Answer ALL questions. Write your answers in the spaces provided.

1. Kaff coffee is sold in packets. A seller measures the masses of the contents of a random sample of 90

packets of Kaff coffee from her stock. The results are shown in the table below.

Mass w (g) Midpoint v (g) Frequency (f)
240 <w <245 242.5 8
245 <w< 248 246.5 15
248 <w<252 250 35
252 <w <255 253.5 23
255<w<260 2575 B

(You may use Y f)? =5644171.75)

A histogram is drawn and the class 245 <w < 248 is represented by a rectangle of
width 1.2 cm and height 10 cm.

(a) Calculate the width and the height of the rectangle representing the
class 255 <w <260

(b) Use linear interpolation to estimate the median mass of the contents of a
packet of Kaff coffee to 1 decimal place.

(c) Estimate the mean and the standard deviation of the mass of the contents of
a packet of Kaff coffee to 1 decimal place.

The seller claims that the mean mass of the contents of the packets is more than the
stated mass.

Given that the stated mass of the contents of a packet of Kaff coffee is 250 g and the
actual standard deviation of the contents of a packet of Kaff coffee is 4 g,

(d) test, using a 5% level of significance, whether or not the seller's claim is justified.

State your hypotheses clearly.
(You may assume that the mass of the contents of a packet is normally distributed.)

(e) Using your answers to parts (b) and (c), comment on the assumption that the mass
of the contents of a packet is normally distributed.
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Question 1 continued

(Total for Question 1 is 14 marks)




2. A researcher believes that there is a linear relationship between daily
mean temperature and daily total rainfall. The 7 places in the northern
hemisphere from the large data set are used. The mean of the daily mean
temperatures, ¢°C, and the mean of the daily total rainfall, s mm, for the
month of July in 2015 are shown on the scatter diagram below.

s
6
*lH
e x
s G
*
3
X
2 %
0 5 10 5 20 25 30 ¢

(a) With reference to the scatter diagram, explain why a linear regression model may
not be suitable for the relationship between ¢ and s.

The researcher calculated the product moment correlation coefficient for the 7 places
and obtained » = 0.658

(b) Stating your hypotheses clearly, test at the 10% level of significance, whether or
not the product moment correlation coefficient for the population is greater than
Zero.

(c) Using your knowledge of the large data set, suggest the names of the 2 places
labelled G and H.

(d) Using your knowledge from the large data set, and with reference to the
locations of the 2 places labelled G and H, give a reason why these places have
the highest temperatures in July.

(e) Suggest how you could make better use of the large data set to investigate the
relationship between daily mean temperature and daily total rainfall.



7

Question 2 continued

5K
&%

>
5

‘A
-
5,

%

OO
88
KL
e

LR
(RRKK

28
P>

b
X
o6

X

QL

0% %
()
2%
R

000
Aé?%&gb

(XX
XK
o

SRXK
R

o%

D 0.0.0.9,
P

0.:000

S

S
sl

196%6%%%
o

OIS
RS R

%

X 2>

TR

XXX

¢
bogess
‘4
<8
b
XK

3RS
3RS
3RK

X
RRS




7

Question 2 continued
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Question 2 continued

(Total for Question 2 is 7 marks)




r

3. For a particular type of bulb, 36% grow into plants with blue flowers and the remainder

grow into plants with white flowers. Bulbs are sold in mixed bags of 40.
Russell selects a random sample of 5 bags of bulbs.

(a) Find the probability that fewer than 2 of these bags will contain more bulbs that
grow into plants with blue flowers than grow into plants with white flowers

C))

Maggie takes a random sample of » bulbs.
Using a normal approximation, the probability that more than 244 of these »n bulbs will
grow into blue flowers is 0.0521 to 4 decimal places.

(b) Find the value of n.
(6)
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Question 3 continued

(Total for Question 3 is 10 marks)
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Question 4 continued

(Total for Question 4 is 11 marks)




r

5. The lifetimes of batteries sold by company X are normally distributed, with mean 150 hours
and standard deviation 25 hours.

A box contains 12 batteries from company X.

(a) Find the expected number of these batteries that have a lifetime of more than 160 hours.

The lifetimes of batteries sold by company Y are normally distributed, with mean 160
hours and 80% of these batteries have a lifetime of less than 180 hours.

edetee
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QOO
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(b) Find the standard deviation of the lifetimes of batteries from company Y.

Both companies sell their batteries for the same price.

(c) State which company you would recommend. Give reasons for your answer.

(2)
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SECTION B: MECHANICS
Answer ALL questions. Write your answers in the spaces provided.

Unless otherwise indicated, whenever a numerical value of g is required, take g = 9.8 ms™?
and give your answer to either 2 significant figures or 3 significant figures.

[In this question position vectors are given relative to a fixed origin O.]

6. A particle, P, moves with constant acceleration (i — 2j) m s2.

At time t = 0 seconds, the particle is at the point 4 with position vector (2i + 5j) m and is
moving with velocity u m s

At time t = 3 seconds, P is at the point B with position vector (—2.5i + 8j) m.

Find u.

C))

RRRLS

XX
SRR

LK

QIR

QR
%
Satotel
Lo
%
S

%S
o
o tetetete!

XKL
RERX3
Rl KKK X
X5

KL

005
basasatatetele

O

]

XXX
,%&&&
%%
X

¢
%
pfesete’
[
%
%

5
:217
9%

N
MK
IR

o
o5,

O
SRR
o20%

0
%
%5
bototeret
bo%es
55
LR

¢
3

o
000
2%

XX
KK
XRRXLRK:

QERIXHXHHHKAKN

¢
55
R
oo te ot totetetoteteds,
RRRRRLLLLLLLLS

0

=
%
XX

OO
e
29505058
XK
205050598

0’0’0
%%
o96%%
o9e%
o6%%
0L
XXX

<>
2K
2K
3K
3%
XS

R
0% %
0% %
o3e%
oSe%
RS
KK

>
o3
%9,
0%
000
o2
%!

05
2%
5%
2%
5%
10098
25




OO0
Todetede!
s

IRREREKS

696%%%%
%ﬁp%&p

O

:07
0%
doge’
%%

&

PO X ¥

<X

3
X
o365
po%

0%6%%%
X

0009,

"’AQ

2

S RRIKLIRKILLILKK,
oot o tetetetetoteteetetotetete
ZRRLRLRRLRELRRLRELRRLRLE

QLR
: 2
2%
oolotel

XX

®:

0:0000000

LKL

O
QXS 0.02:’0’0:0
L

&

eogereeleteteletetete!

%
LR
0%
RKS

R
SR
X
QIRTELIT
RRRRRRKKS

XX
P %020 %%

<8
%
%

9%
O

o

058

%
RRS

AN
X oSS esogatede! X5
bo %0050 %%
%

7

Question 6 continued

(Total for Question 6 is 4 marks)




7

7. A particle, P, moves under the action of a single force in such a way that at time ¢ seconds,
where ¢ > 0, its velocity v m s'! is given by

v=(-30)i-12¢]
The mass of P is 0.5 kg.

Find the time at which the magnitude of the force acting on P is 6.5 N.
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Question 7 continued

(Total for Question 7 is 7 marks)




300/

20°

Figure 1

A small box of mass 3 kg moves on a rough plane which is inclined at an angle of 20° to
the horizontal.

The box is pulled up a line of greatest slope of the plane using a rope which is attached to
the box.

The rope makes an angle of 30° with the plane, as shown in Figure 1.

The rope lies in the vertical plane which contains a line of greatest slope of the plane.
The coefficient of friction between the box and the plane is 0.3.
The tension in the rope is 25 N.

The box is modelled as a particle, the rope is modelled as a light inextensible string and air
resistance is ignored.

(a) Using the model, find the acceleration of the box.
(7)

(b) Suggest one improvement to the model that would make it more realistic.

(1)

The rope now breaks and the box slows down and comes to rest.

(c) Show that, after the box comes to rest, it immediately starts to move down the
plane.
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Question 8 continued

(Total for Question 8 is 11 marks)
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Figure 2

A beam AB, of mass 20 kg and length 3 m, is smoothly hinged to a vertical wall at one end A.

The beam is held in equilibrium in a horizontal position by a rope of length 1 m.

One end of the rope is fixed to a point, C, on the wall which is vertically above A.

The other end of the rope is fixed to the point D on the beam so that angle ACD is 30°, as
shown in Figure 2.

The beam is modelled as a uniform rod and the rope is modelled as a light inextensible string.
Using the model, find

(a) the tension in the rope,

(b) the direction of the force exerted by the wall on the beam at A.

(c) If the rope were not modelled as being light, state how this would affect the

tension in the rope, explaining your answer carefully.

The rope is now removed and replaced by a longer rope which is still attached to the
wall at C but is now attached to the beam at G, where G is the midpoint of AB. The
beam AB remains in equilibrium in a horizontal position.

(d) Show that the force exerted by the wall on the beam at A now acts horizontally

DO NOTWRITE IN THIS AREA DO NOT WRITE IN THIS AREA

DO NOTWRITEIN - THIS AREA
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Question 9 continued

(Total for Question 9 is 14 marks)




10.

lm

A
v

12m
Figure 3

A tennis player serves a ball so as to pass over the net.
The ball is given an initial velocity of 45 m s-! in a direction 10° below the horizontal.

The ball is struck at a point O which is 3.5 m vertically above the point 4 which is on
horizontal ground.
The bottom of the net is the point B which is on the ground and AB = 12 m.

The height of the net is 1 m, as shown in Figure 3.

The ball is modelled as a particle moving freely under gravity.
The ball passes over the net at a point which is vertically above B.

Using the model,

(a) find, in centimetres to 2 significant figures, the distance between the ball and the top of
the net, as the ball passes over the net,

(b) find, to 2 significant figures, the speed of the ball as it passes over the net.

(c) State two limitations of the model that could affect the reliability of your
answers.
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(Total for Question 10 is 14 marks)
TOTAL FOR SECTION B IS 50 MARKS
TOTAL FOR PAPER IS 100 MARKS

Question 10 continued
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